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PreCalculus 12
7.1-7.3 Worksheet

1) An English Exam contains eight questions, of which you must answer any three. How many ways can the three

questions be chosen? , _ @
%C% =

2) Inthe word MATHEMATICS, how many different arrangements are there ol o!
U f \7 202! Do
’ C = L] /2
a) Using all the letters? 0\) lL\l—»\ > == C) LA
b) If the word must start with ‘C’? 74“1‘-7', o W ‘7)36(70\ L%ﬂzm\
c) Ifthe ‘M’s must be together? || 389600 |
d) If the letters ‘H’ and ‘S’ must be apart? N L ,J_,,__, So apatl 15
0 r S '
(A) 1 SQJ‘ SpE CER L o Total ways — together ways
3) Atelephone number must start with the area code 604 or 778. The first digit of the seven digit number cannot = 1! _ 1o/ I
start with a 0 or 1. How many telephone numbers are possible? __ 4~ € 1V 10 (9 (0 fo [0 _ {l_é Son ;;OW 2202l 1902t
go/‘ig > 0 =Rty ! L 4590
K 0
4) Mr. Griffiths is one of the seven math teachers in the Math department. In how many ways can three of the - 401 700
teachers be chosen to attend a math conference such that Mr. Griffiths is one of the teachers attending? ‘L >
6Cq 210} il
5) A bag of candy contains seven Mars bars and nine KitKats. In how many ways can two Mars bars and three Kit
Kats be drawn from the bag of candy? ! L
7Q2 ‘ﬂCg \‘,6 ’ — \F\‘Xed
6) How many ways are there to seat six people around a circular table? ! / —

v’ ol =120
7) Three couples go to a movie and occupy six consecutive seats. In how many ways can the people be seated if the

couples must sit together? AR (D EF 3l glqlg h El'-g]

8) How many ways can you be dealt a five card hand containing three Jacks of any suit and two even black cards?

7 ‘+C3 o = =10 blade even cads in

9) Mr. Griffiths brings two pairs of jeans, two pairs of shorts, five T-shirts and three sweaters on a trip. His fashion adec
sense forbids him to wear shorts and sweaters together. How many different p0551ble outfits are there?
unrelincted .._EL {L — = % 1’%’”“ L3z 3l-k- [7|
10) In how many ways can a jury team be selected from a grc;up og 25 prospectlve jUI‘OI’S if the first twelve people -
?
selected become jurors and the next three selected are alternate jurors? 75 [ CRRE Cg - (’ L{‘ﬂ,l%‘;)&)“ \
11) What is the probability of winning the grand prize when playing Lotto 6-49? You must correctly pick six of the
possible 49 numbers. l o 1 1
L}ch ‘ 13, I*'. ) HL \ [,Qre@‘lfnj ‘S* \/Ol'"e\ ﬂ‘-\/ps hh’i’(‘;m
12) The English alphabet has 21 consonants and 5 vowe]s How many six letter words contain
, R e N (IR T TRT R
a) exactly one vowel? ) §£| 200U U2 6 = “_;Lll_():l@})?)ol b) - Y, G plaes
5 o aes {o il
b) exactly two vowels? bpluas to plae vowel \1‘1%0}75 ) 1o flm 1 plae?
¢) atleast one vowel? vowe| e |

6 6 g
d) atleast two vowels? 9 26 - 1 ’L’L?I\L\q.()ff'_l_ 0\) 1131465 — (2152%%0
al\ o vewels all — o vewrels — 1 vouel 'toaé,?r fzq \
13) In how many ways can 6 be chosen from 4 ofﬂcers and 8 privates to include at least 1 officer?

a1 -no offers = 12C - ?b

14) In how many ways can the word CORPORATION be arranged such that the vowels are always together?

O0TATL o /| Sl = iﬁ){y Lll(}\\\
15) A password consists of two letters followed by three numbers Hov@’many possible passwords are there if:
a) Repeats are allowed? 2626 1910 10 . l(n 76,000 l

b) Repeats are not allowed? 26 2‘7" {0 ‘1 l_g \ LlLL',-ﬂ-,UQ \
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